


e AL

FARM WAGONS SINCE 1964

In all thy ways
acknowledge Him

tiesmaiiaree | PHONE 217/543-3471 » P.0. BOX 168 « ARTHUR, IL 61911 7
800-677-2802 www.e-ztrail.com

BALE BASKET
SET-UP & OPERATING INSTRUCTONS

Bolt A-Frame to axle using 4 — 5/8 x 2 Bolts & locknuts, wait to tighten.

Install the 3 angle braces with 6 - 3/8 x 1 flange bolts. Attach the gate release cable to
the left brace.

Mount the bale chute to the basket with 4 — 3/8 x 2-1/4 bolts, and to the A-frame with 2 —
3/8 x 1 flange bolts. Tighten all bolts.

Install the caster weldment, there needs to be at least 1/16” clearance between the spindle
cap and the spindle bushing on the A-frame, if necessary, put a 3/8” flat washer under the
spindle cap. Grease the spindle bushing.

Check the wheel bearings for lubrication and proper adjustment. Install the tires &
wheels. The front tire should have 60 PSI, & the rear tires 55 PSI.

Attach the tongue to the A-frame with a 7/8 x 6 bolt & locknut. The hole in front of the
tongue bolt can be used to insert a bolt & raise the front wheel off the ground when
towing empty long distance. Install the bale guide pan on the front of the tongue.

Hang the rear gate on the back of the basket, in some cases it may be easier to do this step
first with the basket on its back, sliding the gate under the basket. Line up the latch pin
with the gate latch and tighten the set screws. Make sure the roller on the latch pin turns
freely. Keep roller lubricated for easy opening & closing of gate.

All bale chutes need to be removed from the baler. The baler drawbar needs to be
centered with the bale chamber, and the hitch-pin hole needs to be approximately 5”
behind the end of the bale chamber. An optional center hitch is available for New
Holland bales with offset drawbars.

Release some of the spring tension in the bale chamber to compensate for the pressure
required to push the bales up the chute.

Always stay clear of the rear gate.
Use proper lighting if used on public roads.



